

America's CONE EXPERTS











The Best Cones Make the Best Frozen Desserts

With over a 100 years of experience *Eat-It-All®* and *Colosso®* Cones offer unmatched brand recognition and the highest quality your customers expect in their favorite frozen desserts.

Eat-It-All® and Colosso® products offer a complete collection of cone and bowl formats for every menu application, as well as fully jacketed cone bottoms. Trust America's Cone Experts™ to support you every scoop of the way!

Look for this Symbol to Identify Jacketed Cone Options



Variety & Taste that Builds Sweet Success!

Whatever your menu calls for, *Eat-It-All®* has just the right cone to tempt your customers. Whether cake, torch or sugar, they're the perfect edible foundation to build incredible ice cream, soft serve or frozen yogurt dessert sales.

Cones Available in:

- Bulk, sleeves and dispensers
- S, M & L, jacketed and non-jacketed





Quality from the Inside-Out!





Delicious, Crowd-Pleasing and Profitable

A wide variety of sizes and formats helps you create signature frozen desserts that can command a premium price. Plus, *Colosso®* superior quality waffle cones and bowls taste as good as scratch, which can help you save labor and operating costs.

Cones Available in: S, M & L, jacketed and non-jacketed.



Our waffle cones and bowls come packaged in a stay-fresh, sturdy stack pack with foam protectors to reduce breakage.









Frozen Desserts:
#1 in Foodservice with a 38% Share of Servings!

Cone Dispensers and Displays

Our practical cone dispensers and displays help save labor and boost frozen dessert sales.

102104108

Cake Cup Deluxe
Available to fit all Eat-It-All®
cake cone packaged items
Dimensions:

6.25"w x 15.75"h x 8.5"d Capacity: 100 cones

202 Acrylic Cone TubeDimensions: 36"h x 5"d
Capacity: 25 cones











UCHLE - Acrylic Large Enclosed Universal Cone Holder Dimensions: 16"w x 12"h x 5"d Capacity: up to 20 cones

UCHL - Acrylic Large Universal Cone Holder Dimensions: 16"w x 12"h x 5"d Capacity: up to 20 cones

UCH - Acrylic Universal Cone Holder Dimensions: 12"w x 6"h x 5"d Capacity: up to 15 cones

Every year, nearly 2 million ice cream servings are enjoyed in US Foodservice!¹

Merchandising

We have Posters, Banners and delicious Frozen Dessert Recipes to create excitement and sales! For more information contact your *Kellogg's®* Food Away From Home Representative or visit **www.KelloggsFoodAwayFromHome.com**.







Product Code	Product Description	Capacity (oz.)	Height	External Rim Dia.	Pack/ Count	Gross Case Weight (lbs.)	Distributor Code
Eat-It-AII®	Cake Cones						
Dispensers							
30100-80001	Eat-It-AII® 1D Pointed Cake Cone Dispenser	4.0 - 5.0	4 5/8"	2 3/16"	10/100, 1000 ct.	24.69	
30100-80006	Eat-It-All® 10D Cake Cup Dispenser	3.0 - 4.0	2 13/32"	2 3/16"	10/100, 1000 ct.	15.50	
30100-80012	Eat-It-AII® 15D Cake Cup Dispenser	4.0 - 5.0	2 7/8"	2 3/8"	6/100, 600 ct.	11.67	
30100-80017	Eat-It-AII® 25D Cake Cup Dispenser	3.5 - 4.5	2 5/8"	2 9/32"	10/100, 1000 ct.	17.90	
30100-80021	Eat-It-All® 34D Cake Cup Dispenser	5.0 - 6.0	3 1/16"	2 9/16"	6/100, 600 ct.	14.50	
30100-80025	Eat-It-AII® 40D Cake Cup Dispenser	6.0 - 7.0	3 1/8"	2 19/32"	6/100, 600 ct.	15.00	
Dispensers- J	lacketed						
30100-80007	Eat-It-AII® 10DJ Cake Cup Dispenser Jacketed	3.0 - 4.0	2 13/32"	2 3/16"	10/100, 1000 ct.	19.19	
30100-80013	Eat-It-AII® 15DJ Cake Cup Dispenser Jacketed	4.0 - 5.0	2 7/8"	2 3/8"	6/100, 600 ct.	13.88	
30100-80022	Eat-It-AII® 34DJ Cake Cup Dispenser Jacketed	5.0 - 6.0	3 1/16"	2 9/16"	6/100, 600 ct.	15.20	
Sleeves							
30100-80008	Eat-It-AII® 10S Cake Cup Sleeve	3.0 - 4.0	2 13/32"	2 3/16"	40/25, 1000 ct.	15.02	
30100-80023	Eat-It-AII® 34S Cake Cup Sleeve	5.0 - 6.0	3 1/16"	2 9/16"	24/25, 600 ct.	13.17	
30100-80029	Eat-It-All® 70S Cake Cup Sleeve	7.0 - 9.0	3 13/16"	2 15/16"	20/20, 400 ct.	10.57	
Sleeves-Jac	keted						
30100-80024	Eat-It-All® 34SJ Cake Cup Sleeve Jacketed	5.0 - 6.0	3 1/16"	2 9/16"	24/25, 600 ct.	15.31	
Bulk							
30100-80004	Eat-It-All® 22B Junior Torch Cake Cone Bulk	0.5 - 1.0	4 3/16"	1 3/8"	4/500, 2000 ct.	19.45	
30100-80019	Eat-It-AII® 34B Cake Cup Bulk	5.0 - 6.0	3 1/16"	2 9/16"	1/360, 360 ct.	10.25	
Bulk-Jackete	ed						
30100-80020	Eat-It-AII® 34BJ Cake Cup Bulk Jacketed	5.0 - 6.0	3 1/16"	2 9/16"	1/360, 360 ct.	11.58	
Eat-It-AII®	Honey-Roll® Sugar Cones						
30100-80031	Eat-It-All® 204B Honey-Roll® Sugar Cone	3.5 - 4.5	4 ½"	1 17/20"	4/200, 800 ct.	30.00	
30100-80032	Eat-It-All® 204BJ Honey-Roll® Sugar Cone Jacketed	3.5 - 4.5	4 ½"	1 17/20"	4/200, 800 ct.	31.70	
Colosso®	Waffle Cones & Bowls						
30100-80033	Colosso® WCS Waffle Cone Small	4.5	6.0"	2.75"	12/22, 264 ct.	14.93	
30100-80034	Colosso® WCSJ Waffle Cone Small Jacketed	4.5	6.0"	2.75"	12/22, 264 ct.	15.21	
30100-80037	Colosso® WCM Waffle Cone Medium	6.0	6.5"	3.0"	12/18, 216 ct.	16.36	
30100-80038	Colosso® WCMJ Waffle Cone Medium Jacketed	6.0	6.5"	3.0"	12/18, 216 ct.	16.67	
30100-80041	Colosso® WCL Waffle Cone Large	7.5	7.0"	3.25"	9/22, 198 ct.	15.00	
30100-80042	Colosso® WCLJ Waffle Cone Large Jacketed	7.5	7.0"	3.25"	9/22, 198 ct.	18.22	
30100-80046	Colosso® WBL Waffle Bowl Large	7.5	2.0"	4.75"	1/60, 60 ct.	7.30	

Eat-It-All® and Colosso® brand products have **OU Pareve Kosher** designations.

Ice Cream Cones from the Maker of Top Selling Brands!

For more information, visit **www.KelloggsFoodAwayFromHome.com**, contact your Kellogg Sales Representative or call 877-511-5777.